Property D Spring 2016 Estates & Future Interests Exam:

Answers & Explanations


Overall, you did a very well on this test.  The median was 21, the mean was 20.2, 5 students got perfect scores, and only six of you got fewer than 16/24 correct.  The questions and answers are laid out below. Correct answers are in bold type.  My comments are in italics.  


Student names from Badlands, Everglades and Olympic should be obvious except that Camp-acre includes Campa, and I translated the German/Yiddish Appelbaum as Apple Tree.  In addition, most of your Professor’s names are in Question 17. 
(1) Which of the following future interests is not initially held by a grantee?

This is a variation on Sample Question 2 and Fall 2007 Question 1

(a) Contingent remainder in life estate.

(b) Possibility of reverter. This is the future interest held by the grantor that follows a present estate determinable. 100% of you got this right, making it the easiest question on the test.
(c) Shifting executory interest.

(d) Springing executory interest. A springing executory interest cuts off the grantor’s interest, but is always held by a third party, not by the grantor.
 (2) Which of the following was a finite present possessory interest at common law?

This is Fall 2007 Question 2 and Sample Question 66.
(a) A grant “to Alessandria forever.” At common law, you had to use the words “and his/her heirs” to create a fee simple. The default estate was a life estate, so as in the Ernie and Bert problem we did in class, this grant would have created a life estate in Alessandria, which is a present finite estate.  
(b) Fee Tail.

(c) Life estate pur autre vie. This answer is a finite present possessory interest no matter when it took place..
(d) All of the above. 98.7% of you got this right, making it the second easiest question on the test.
.

Question 3 is based on the following information:  In 2015, Dion grants Beck-acre “to Evan for life, then to Frank so long as he operates a gambling casino on the property, otherwise to Jake.”

This is Spring 2015 Question 7. Its validity depends on the law of the jurisdiction.  If the casino is illegal, we would pencil out the condition, leaving Frank with a vested remainder in fee simple absolute.  If the casino is legal, Frank has a vested remainder in fee simple on executory limitation.

(3) At the time of the grant, Frank has 

(a) A vested remainder in fee simple determinable, if operating a gambling casino is legal in the jurisdiction.  This is incorrect because the future interest is held by a grantee, not by the grantor.
(b) A vested remainder in fee simple absolute, if operating a gambling casino is not legal in the jurisdiction.  84% of you chose this answer.
(c) A vested remainder subject to divestment, if operating a gambling casino is legal in the jurisdiction. This would be true if it were possible for Frank to violate the condition before he comes into possession of the property, but this sort of condition clearly is intended to address Frank’s behavior only after he takes possession.

 (d) Nothing, if operating a gambling casino is not legal in the jurisdiction.  If the condition is invalid, we pencil out the condition, not the underlying remainder.  
Question 4  is based on the following information:  Al grants Petak-Acre “to Bianca for life, then to Charlie and his heirs if Charlie attends Bianca’s funeral.”

This is Sample Question 26, which a variation on the second part of Problem 4J.  
(4) What interest does Charlie have? 

(a) Springing Executory Interest. The funeral must take place after the life estate is complete, therefore the grantor must intend it to revert back to himself before going to Charlie.  Thus, Charlie’s interest must be an executory interest, cutting off the reversion.  It cannot be a remainder, which would follow naturally immediately after the life estate.  It is a springing executory interest because it will cut off the grantor’s reversion; it will not cut off a grantee’s interest. Only 53.3% of you chose this answer, making it the hardest question on the test.
(b) Contingent Remainder. See above. 40% of you chose this answer, which was a little surprising because it is nearly identical to 4J.
(c) Vested Remainder in Fee Simple on Executory Limitation.  See above.
(d) Shifting Executory Interest. See above..

Questions 5-6 are based on the following information:  Jennifer grants Young-acre “to Kristin and her heirs, but only if they take care of my widower while he’s alive.” 
These are Sample Questions 27-28

(5) Which of the following arguments supports treating Kristin’s interest as a fee simple on condition subsequent: 

(a) The grant has two clauses.  This is characteristic of fees simple on condition subsequent.

(b) Most states have a presumption in favor of fee simple on condition subsequent.  We discussed that this was true in the context of Mahrenholz.

(c) It is very difficult to identify a particular moment at which the widower is not being cared for. We discussed this in the context of Discussion Question 4.07:  It is hard to have an automatic transfer attached to a condition that constitutes an ongoing obligation, because it is difficult to determine precisely when the interest should be transferred.

 (d) All of the above.  89.3% of you chose this answer.

(6) Which of the following arguments supports treating Kristin’s interest as a fee simple determinable:

(a) Most states have a presumption in favor of fee simple determinable. This is untrue; most presume condition subsequent.

(b) The grant is almost indistinguishable from the one at issue in Mahrenholz. This really isn’t true; that grant also said “shall revert to the grantor herein,” which was more suggestive of automatic transfer than the language here.

(c) The use of the word “only.”  Mahrenholz says this. 92% of you chose this answer, making it the fourth easiest question on the test.
(d) All of the above.

Questions 7-10 are based on the following information: Amanda died in 2012 leaving a valid will that included the following language: “I leave my house to my sister Blayne so that she will always have a place to live, but if Blayne ever moves out of the house before she dies, then to my cousin Cortney.  I leave my jewelry to Cortney.  I leave the remainder of my property to my friend Daniel and his heirs.”

Questions 7 and 9 are based on Questions 10 and 11 from the Spring 2015 test; Question 8 is based partly on Question 7 from Spring 2014.   All of these arise from our discussions of White v. Brown and from Problem 4S. 
(7) Which of the following arguments support treating Blayne’s interest as a defeasible fee simple (as opposed to a defeasible life estate)?

(a) There is no “gift over.”  This would support characterizing the interest as a fee simple (see White) if it were true here, but the residuary clause is a gift over.
(b) The grant of the house is worded differently from the grant of the jewelry.  This fact supports treating Blayne’s interest as a life estate, since the differences tend to indicate that the interest in the house is more circumscribed (see White dissent).
(c) Blayne’s interest could be cut off by Cortney’s interest.  Although this is factually correct, it would be equally true whether Blayne’s interest is a life estate or a fee, so it doesn’t tell us anything about which characterization to employ.
(d) None of the above.   89.3% of you got this right.
(8) Which of the following arguments supports a claim that Blayne’s interest is a defeasible life estate (rather than a defeasible fee simple)?

(a) The presumption in favor of life estates.  The grant was made in 2012, clearly “today,” so the presumption favors a fee simple. This was a new answer, which appropriately did not fool anyone.
(b) If Blayne’s interest is a fee simple, the condition that she not move out of the house would be void as a total restraint on alienation.  The condition doesn’t prohibit her from selling the house, only from moving out.  She could sell it on the condition that she still be allowed to live there.  Although it might make the houseless desirable to many purchasers, at worst, this is a partial restraint on alienation. This was also a new answer and was chosen by 13.3% of you..
(c) Amanda used “and his heirs” in the grant to Daniel.  One of the dissent’s arguments from White v. Brown is that if the grantor elsewhere uses language clearly pointing to a fee simple, the absence of that language supports treating the grant in question as a life estate. 81.3% of you got this right
(d) All of the above. 
(9) What is Daniel’s interest in the house?

(a) If a court holds that Blayne has a defeasible fee, Daniel has a possibility of reverter.  Daniel would not get a possibility of reverter because, if the condition is violated, the property goes to Cortney.
  (b) If a court holds that Blayne has a defeasible fee, Daniel has nothing. If Blayne has a defeasible fee, Cortney holds a shifting executory interest, and no interest remains for Daniel to hold in the house.  76% of you got this right, making it tied for the fourth hardest question on the test.
(c) If a court holds that Blayne has a defeasible life estate, Daniel gets both a possibility of reverter and a reversion that merge into a reversion. Same as (a). 17.3% of you chose this answer.
(d) If a court holds that Blayne has a defeasible life estate, Daniel has a vested remainder. If the grant to Blayne is treated as a life estate, Amanda retained the reversion herself, and it then passes to Daniel through the residuary clause.  Daniel thus gets a reversion, because no remainder is expressly created.  This is like Problem 4O. 

(10) In 2015, your client, the Rattinger Corporation (RC), is putting together a large parcel of land to construct a mixed-use residential and commercial complex.  RC would like to purchase the land containing the house that Amanda left to Blayne and make it part of the complex.  All of the following would be useful steps for you to take to advise RC about this purchase except:

This is the advice problem (Question 12) from the Spring 2015 exam.  The class did much better with it the second time around.

(a) Determine if RC would be willing to guarantee Blayne a “place to live” in one of its new residential units. Although the stated purpose of the condition was to provide Blayne with a home, the wording of the condition awards ownership to Cortney if Blayne moves out regardless of whether Blayne has another place to live.  Thus, this type of offer by RC would not give them more ability to control the land in question. 93.3% of you got this right, making it the third easiest question on the test.
(b) Determine if Blayne still lives in the house.   If she does not, then (assuming the condition is valid) RC only has to deal with the future interest holders. 
(c) Determine if Cortney would be willing to sell her interest in the land.  Again assuming the condition is valid, RC would have to purchase Cortney’s interest if they wanted a fee simple absolute. 
 (d) Determine if RC could construct its complex while leaving the house in place.  If so, Blayne could continue to live in the house while RC used the land around it and her interest would not immediately end.  
Question 11 is based on the following information:  In her valid will in 2011, Jess grants Khan-acre:  “To Mark for life, then to my children for their lives, then to Mark’s oldest child to survive him.”

This is a variation on Sample Question 40. Students have had trouble with this problem because of a failure to think through the logic of the problem.  The grant is in Jess’s will, which means she is dead, which means that any children she is ever going to have are already born.  

(11) Which of the following interests is created by the grant? 

(a) Vested remainder in life estate subject to open in Jess’s children if any are alive at the time of the grant.  The vested remainder is not “subject to open” because no more children can be born. 

(b) Contingent remainder in Jess’s children if there are none alive at the time of the grant. If no children survive Jess, the interest simply fails; it is not contingent because no more can be born. 

(c) Contingent remainder in fee simple in Mark’s oldest child to survive him.  This is a contingent remainder because we cannot ascertain who this will be until the moment of Mark’s death.  Even though it doesn’t say “and his/her heirs,” in 2011, we presume an ambiguous grant is in fee simple.  76% of you got this right, making it tied for the fourth hardest question on the test.
 (d) All of the above. 22.7% of you chose this answer, which meant that you needed to read more carefully.
Questions 12-15 are based on the following information: Alexis grants Camp-acre “to Brent for life, then to Conrad on the condition that he graduates from medical school, but if Conrad never graduates from medical school, then to Joe.”

These questions are Spring 2013 Questions 19-22; The first three questions also were Questions 18-20 in Spring 2015.

Brent gets a life estate.  Conrad and Joe have alternate contingent remainders (either Conrad graduates from medical school before he dies and his interest vests or Conrad dies without graduating and Joe’s interest vests).  As is always true when there are contingent remainders, Alexis retains a reversion.

(12) If the grant takes place in 2016, all of the following interests are created except:

(a) Reversion in Alexis.  14.7% of you picked this answer, presumably because you could see no room for the reversion given the alternative contingent remainders.  However, as the slides and old questions make clear, whenever there are alternative contingent remainders, there must also be a reversion, even if it seems logically impossible for the property ever to go back to the grantor.  In any event, here, as Questions 14-15 make clear, there are obvious situations in which the reversion will be needed.
(b) Life estate in Brent.

(c) Contingent remainder in Conrad.

(d) Shifting executory interest in Joe.  If Conrad had a vested remainder, this would be correct, but Joe’s interest will not cut off a present or vested estate, so it is also a remainder.  84% of you chose this answer.

(13) Assume that Conrad graduated from medical school, then died leaving a valid will devising all his property to Laura.  Subsequently Brent died intestate.  If the grant took place “at common law,” who would then have the right to possess Camp-acre?

When Conrad graduates, his remainder vests and Joe’s remainder fails.  However, at common law, Conrad’s vested remainder is in life estate, because the grant does not say “and his heirs.”  Thus, when he dies, his interest dies with him.  At Brent’s death, Alexis’s reversion (which must follow the remainders in life estate) becomes possessory.
(a) Alexis, because of the Doctrine of Destructibility of Contingent Remainders. The destructibility doctrine would come into play if Brent had died before Conrad’s interest vested, but it doesn’t affect a vested interest.

(b) Alexis, because of the presumption favoring life estates.   89.3%  of you got this right.

(c) Laura, because Conrad’s interest vested before Brent’s death.  Because Conrad’s interest was in life estate, it could not survive Conrad’s death. 
(d) Joe, because of the Doctrine of Destructibility of Contingent Remainders.  Joe’s interest fails as soon as Conrad graduated (either at common law or today).

(14) Assume instead that Brent died while Conrad was still alive, but Conrad had not yet graduated from medical school.  If the grant took place in 2016, which of the following would be true if the jurisdiction does not destroy contingent remainders?

The conditions that would vest the two contingent remainders have not been met at Brent’s death, so Alexis’s reversion becomes possessory.  Since the jurisdiction doesn’t destroy contingent remainders, they become springing executory interests and we’ll characterize Alexis’s interest as a fee simple on executory limitation. 

(a) Alexis would have a fee simple on executory limitation.  84% of you chose this answer.

(b) Conrad and Joe would have alternate contingent remainders. Once the life estate is gone, these interests cannot be remainders because they no longer are waiting for the end of a finite estate.  
(c) Joe would have a fee simple absolute. This would be true if we knew for sure that Conrad will never graduate from medical school, but we won’t know that until his death.

(d) None of the above. 

(15) Assume instead that shortly after the grant was executed, Alexis repurchased Brent’s interest in Camp-acre.  If the grant took place “at common law,” and Conrad was still alive but had not yet graduated from medical school, Alexis would then have:

Alexis retained a reversion, so when he purchases Brent’s life estate, the two interests merge into a fee simple.  At common law, the Doctrine of Destructability of Contingent Remainders would then destroy both contingent remainders, leaving Alexis with a fee simple absolute. 

(a) Fee simple absolute. 89.3% of you chose this answer.
(b) Fee simple on executory limitation.  This would be true if the Destructability Doctrine didn’t apply, which would be true in most modern jurisdictions.

(c) Life estate.


(d) Life estate pur autre vie. This would be true if Alexis did not have a reversion when she purchased the life estate.. 
Question 16 is based on the following information: In 2006, Miguel granted Shiv-acre “to Noelia for life, then to Patrick and his heirs, but if Patrick ever allows Noelia to be moved into a nursing home, then to Zigan and his heirs.”  Noelia died in 2010.

This is Spring 2013 Question 11, based on Workbook Problem 9-11.   The key points are:

(i) As in Problem 4N, Patrick has a vested remainder, because the condition is attached to Zigan’s interest, not Patrick’s; and 

(ii) The condition must be resolved during Noelia’s life estate, since presumably Miguel doesn’t care if Noelia is moved into a nursing home after she is dead.

(16)  Which of the following is true? 

(a) At the time of the grant, Miguel had a reversion.  Where a vested remainder in fee simple follows a life estate, no reversion is created.

(b) At the time of the grant, Noelia had a life estate on condition subsequent. The grantor might have intended Zigan’s interest to cut off the life estate because, if Noelia is in a nursing home, she would not need to live in Shiv-acre.  However, if that were true, because the future interest is held by a grantee, Noelia would have a life estate on executory limitation.

(c) At the time of the grant, Patrick had a vested remainder subject to divestment. This is true because Zigan’s interest would cut off Patrick’s vested remainder, if at all, before it becomes possessory.  86.7% of you got this right.

(d) After Noelia died, Zigan had a shifting executory interest. This was true at the time of the grant, but not after Noelia’s death.  If Noelia had been moved into a nursing home before she died, Zigan would have a fee simple.  If she hadn’t, the condition could never be met, so Zigan would have nothing.

Question 17 is based on the following information:  In 1995, James conveyed Froomkin-acre “to Caroline for life, then to Tamara’s children alive at Caroline’s death and their heirs.”  At that time, Tamara had two children, Keith and Marc.  

In 2004, Keith died, leaving all his property to Bernard in a valid will.  In 2005, Caroline died.  In 2008, Tamara had an additional child, Sergio.

This is essentially Fall 2007 Question 21. The grant to Tamara’s children requires that they be alive at Caroline’s death.  Keith dies before Caroline, so he has no interest to leave to Bernard or to her heirs.  Sergio was not even conceived at the time of Caroline’s death, so he does not meet the condition either.

(17) Assuming that Froomkin-acre has not been transferred in any way besides pursuant to the information above, who owns Froomkin-acre in 2010?


(a) Keith’s heirs and Marc.  

(b) Marc.  90.7% of you got this right, making it the fiftheasiest question on the test.


(c) Bernard and Marc.


(d) Bernard, Marc and Sergio.

Questions 18-21 are based on the following information:  In 1975, Andy granted Olin-acre “to Julia for life, then to Julia’s children, but if Julia is not survived by any children, then to Kelcie and her heirs.”  At the time, Julia had no children.  In 1977, Julia had twin children, Lauren and Mitch. In 1999, Lauren died intestate with Julia as her only heir. 

The grant is the same as that in Problem 4M.  I’ve given sequences of questions on this grant in almost every exam.  (e.g., Spring 2015 Questions 21-24)This year I changed the sequence of births and deaths and had the first child die intestate.  
(18) In 1976, which of the following interests existed:
This combines two common past questions asking you separately to identify the interests in J’s children and in Kelcie.  E.g., Sample Questions 12-13.
(a) Contingent remainder in Kelcie.  An executory interest must cut off a vested interest (either a present interest or a vested remainder).  Here, the interest in J’s children is contingent because no children are born.  Since Kelcie’s interest follows a contingent remainder, not a vested interest, it cannot be an executory interest.  Moreover, if Julia never has children, it could simply follow naturally at the end of Julia’s life estate.  84% of you got this right. 

(b) Vested remainder subject to divestment in Julia’s children. Again, the interest can’t be vested because no children are born yet
(c) Vested remainder subject to open in Julia’s children. Same as (b)
(d) Shifting executory interest in Kelcie. See (a). 13.3% of you chose this answer, which would be true after the twins were born. 
(19)  When Lauren and Mitch were born, which of the following was then correct?
This is, e.g., Sample Question 14 and Spring 2015 Question 22
(a) Lauren and Mitch had contingent remainders in fee simple. When the twins are born, they get a vested remainder (because they are living and ascertainable and there is no condition precedent in the grant to the children) subject to open (because more children could be born) subject to divestment (because they could lose their interests prior to coming into possession if Julia dies survived by no children.).  This answer is wrong because, given the way the grant is worded, the survival condition is part of the grant to Kelcie, not the grant to the children.
(b) Lauren and Mitch had vested remainders in fee simple on executory limitation. This is wrong because the twins can only lose the property before coming into possession.  If at least one twin moved on to the property, by definition that twin would have survived Julia and the grant to Kelcie would have failed.  

 (c) Kelcie’s interest failed.  This cannot occur until we know whether Julia is survived by any children, and we can’t know that for sure until Julia’s death (the twins could pre-decease Julia).
 (d) Andy’s reversion divested.  Because initially there were two contingent remainders, Andy retained a reversion.  When the twins are born and the children’s interest vests, the reversion is no longer needed as a placeholder and the reversion divests.  84% of you got this right.

(20)  When Lauren dies, what happens to her interest?
This is a slight variation on, e.g., Sample Question 15 and Spring 2015 Question 23.  That Lauren dies intestate doesn’t change that her interest survives her.  However, it passes back to her mother rather to someone designated in a will.
(a) It is destroyed. The interest can only be destroyed by Kelcie’s interest vesting, which can only happen if Julia is survived by no children at Julia’s death. Since Julia and Mitch are still alive and Julia can have more children, Kelcie’s interest has not vested. 14.7% of you chose this answer. 
(b) It passes to Julia. At her death, Lauren had a vested remainder subject to open subject to divestment.  The interest is not (by its terms) dependent on Lauren surviving Julia.  Lauren’s interest will remain at least until Julia’s death, and is presently held by Julia (Lauren’s heir). 74.7% of you got this right, making it the third hardest question on the test.
(c) It passes to Mitch. Mitch retains his own interest, but again, nothing in the grant says Lauren’s interest ends at her death.
(d) None of the above.  

(21)  Assume in 2010, Mitch dies leaving all his property to the Apple Tree Foundation in a valid will.  Then in 2011, Julia dies intestate, having had no more children.  Assuming Andy and Kelcie are still alive, who owns Olin-acre?
This is a new question.  After Mitch’s death, the vested remainder subject to open subject to divestment is held by Julia (Lauren’s share) and the Apple Tree Foundation (Mitch’s share).  However, by the terms of the grant, when Julia dies with no living children, Kelcie’s interest vests, divesting the children’s interests. 

(a) Andy. His remaining interest was divested when the twins were born.
(b) Kelcie. 84% of you got this right.
(c)  The Apple Tree Foundation. 12% of you chose this answer, which was a little odd because the twins’ interests were the same, so either both should survive or both should fail.
(d) The Apple Tree Foundation and Julia’s heirs.  This would be true if there had never been a grant to Kelcie..  

Questions  22-24 are based on the following information: In her valid will, Amit grants Yellow-Acre “to Dexter for life, then to Max and his heirs, but if my daughter Regan marries an actor, to Regan and her heirs.”  

This is Sample Questions 62-64.
(22) Which of the following is true?

(a) Max has a vested remainder subject to divestment. Max’s interest is a remainder because it follows a life estate; it is vested because he is alive and ascertainable and no condition precedes his taking; it is subject to divestment because he can lose it before he takes possession if Regan marries an actor. 89.3% of you got this right.
(b) Regan has a contingent remainder. Regan’s interest follows and would cut off a vested remainder, so it must be an executory interest.
(c) Regan has a springing executory interest. Regan’s interest would cut off another grantee, so it is shifting.
(d) Amit has a reversion. Where a vested remainder in fee follows a life estate, no reversion is created.
(23)  Which of the following facts would be relevant to the determination of whether Dexter’s interest is best characterized as a life estate on executory limitation: 
This is asking if these facts would be helpful in deciding whether or not Regan’s interest should be read to cut off Dexter’s life estate.  Although (a) and (c)support cutting it off and (b) supports not cutting it off, all three are relevant to the decision.
(a) Amit repeatedly expressed concern that if Regan (who was an actress herself) married one of her actor friends, Regan would starve to death. If Amit was worried that Regan would starve, he would want her to have the property immediately. 12% of you chose this answer. 
(b) Dexter is 78 years old and in poor health. If this is true, it would seem likely that Amit did not intend to evict poor Dexter, but rather to have Regan wait until Dexter’s life estate ended. This was the answer that had not been in the prior versions of the question.

(c) The grant to Regan does not include the word “then.” If the grantor wanted to be clear that the grant to Regan had to wait for the end of the life estate, using “then” would so indicate. 14.7% of you chose this answer. 
(d) All of the above. 69.3% of you got this right, making it the second hardest question on the test.
(24)  If the condition that Regan marry an actor is challenged as being against public policy, which of the following facts support reaching the same result in this case as in Shapira?  

(a) It might be very difficult for a court to determine whether someone is an “actor.” One of the factors that worked in favor of the grant in Shapira was the relative ease of determining whether the sons’ spouses were Jewish girls born of Jewish parents.  By contrast, there might be some controversy about who really is an “actor” (e.g., I am still unconvinced about Andie McDowell and Hayden Christensen).  Thus, if a court believed this to be true, it would support a result different from that in Shapira. 18.7% of you chose this answer, suggesting you skipped over the last few words of the question. 
(b) There are thousands of aspiring actors residing in the city where Regan lives. This supports reaching the same result as Shapira because of the wide range of possible spouses. 78.7% of you got this right.
(c)  At the time Amit died, Regan was engaged to be married to a lawyer whom Amit despised.  Shapira draws a distinction between a well-developed estate plan and an in terrorem condition.  If the court believed that Amit created the grant here just to break up Regan’s pending wedding, it might well view this as equivalent to an in terrorem grant and strike it down (again a result different from that in Shapira). 
(d) All of the above.
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